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e (YT ALSESH) EERED
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
b= 1 13,290,610 16,655,885 A3,365,275
= 2,267,400
= 11,023,210
=2 ArY 13,000,610 15,855,885 A2,765,275
== 2,267,400
[Ea 10,823,210
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101 @124H| 138,168 141,184 23,016
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OAH HHNEHL U H4TAS HES
g 012y 61,114
—Jl2= 78,8803 *307H A +3H 22 %4 3] 56,7%
— S| 2,000& #3000 A #3222 +43] 1,440
—a=4tl 4,0003 #3000 2 +3H #2 2 *43] 2,880
Ot =2AHEI| uH 22 3,490
—Jl2= 78,8803 x2ZH+5 2 +43] 3,15
— St 2,0003x2& x5 x43] 80
—=4| 4,000 x2H+5 2L #43] 160
—NEMHEE 3,395,200 *2.75% %A
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—Jl2= 78,880 x4 H 22U x7 2 48,591
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35,5003 #4H A +525= 7,384
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200,000 #4042 800
OFEH 3 +==2
600,000 *200H A 12,000
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Ox=ZA4d 293 HE WS Ol
233,300 x 159 3,500
206 =4l 291,826 242,310 49,516
01 =l 291,826 242,310 49,516
OZ=+% 243l 104,700
—PAC 4402 %100,000kg 44,000
—XIOISEAMULES 4402 %100,000k8 44,000
—t8 A0t 4703 %10,000kg 4,700
~HSHAT HYLLMI| A37Y
15,0002 *200 E+4Z | 12,000
SENWRY(HINSYT L 25 2)
2,000,000& 42| 8,000
O=%0IH ¢ 71,750
—A&E(0XE) 95,0003 *400H 38,000
—Wds([CXg) 75,0003 *450H 33,750
OAAFSYI| DY
200,000 *200CH 40,000
O%Z0IE S2F2IX 7
40,0002 754 3,000
O=EAHZEIIe 7 140,000 *400H 56,000
OJIENN HEIIE 2eEE 2
30,0002 *100& 3,000
ol ¢ DXl =222 7J4l
1,680 *400L*8IH = 5,376
305 A= S 3,000 3,000
01 tha32s 3,000 3,000
Oa=5 Ald 2t Eolithaz
3,000,000 14 3,000
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05 2I2tRES 120,000 120,000
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= Bl E e
950&*10,000& x 123 114,000
—+EHYI| AHE S =4
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ONAZAIE T2+ L BYWLOILE,
==X, REH S)
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OIS JIH4Hl tHa=H
400,000,000 *141%99,28/100 397,120
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SN ASHE D
Hu: BYABLIAY
CH9l: ASTIHZAIY (AT A S S| H) (o) &)
. S[E]
SN - BB SRI(BIH) - NISAY - BES O]t e HlRE2
i 4,394,302
ST3AAIE 920,000 920,000
401 AlEHIZ 20| 920,000 920,000
01 AlEHI 913,916 913,916
O |/\-|_T_ |.
800, 000& »400& x99.28/100& 317,696
Oz 2138+
600,000,000 *141*39.37/100 536,220
03 AIE 0Bl 6,084 6,084 0
SAlESA 800,000 & *400&+0.72/100 2,304
o2%nz TR
600,000,000& +0.63/100 3,780
PSR SYNES 1,775,000 1,175,500 599,500
201 LBr23| 155,500 155,500 0
02 2324l 155,500 155,500 0
OFl, & |X&cl
6,000,000 *4 I 2 +23] 48,000
O&F+=XMelAId SA2AN(BE S)
10,000,000 & *53] 50,000
OB sl
5,000,000& * 103 50,000
OH=HMelAld |Xl&2|
2,500,0002 *3JH & 7,500
401 AIEHIZ 2018 1,619,500 1,020,000 599,500
01 AlEHI 1,619,500 1,020,000 599,500
OF=% A2 RX2el 420,000
—HSHAY HYLASHY B4
150,000,000 24! 300,000
— A SF AESI| AX|(XHSAALE
EE) 60,000,000 14! 60,000
—AN&2 |Xzel 60,000,000 14! 60,000
02 NYPLT SHSYNAY 2=
450,000,000& * 14! 450,000
OF4H HUNHHA 8Y
80,000,000 * 14! 80,000
OF4T SH&H 42X AEﬂ
,500, 0002 *5IH 2 22,500
ONHAT 24 9%&@%;&: 0l
H4l) 75,0003 x200m" 15,000
OUEHESZ AT (SS) Yl THAI=~2
Hg 22,000,000 * 14! 22,000
OUEFZ FH+HZ MBSAHGIE )
200,000 *100m 20,000
OF2, EEi==Xl Y==3At
250,000 800 m* 200,000
O&=Z A Wl
10,000,000 44 2 +23] 80,000




SN MBS
3 FY2AMS
Tl AR EIHLAI (AAEAIS S5 H) (12l M2
SA - ZE - B2(30) - HRAS of v e HIDE2
Od, SYAHL HASALAE ZXI(2XH-10H
&) 22,000,000 100H 4 220,000
OESE-PN-ES!
4,500&%10,000&*22 90,000
dote == FHIJIEAHE 700,000 400,000 300,000
401 A2 HIRL R 0HbI 700,000 400,000 300,000
01 Al&HI 700,000 400,000 300,000
OO +THUIIIZHE (HY) 2R
E) 700,000,000& *14] 700,000
N HASSY PSAS (HE) (HEAIY) 2,143,302 1,429,000 714,302
= 1,500,000
= 643,302
401 AIZHIX S0HH 2,143,302 1,429,000 714,302
= 1,500,000
o 643,302
01 A28l 2,135,584 1,423,856 711,728
OROHR NYASE HIATIY TEA(
HE) 2,135,584,000& x14] 2,135,584
[ 1,500,000
T 635,584
03 Al 2 CHHI 7,718 5,144 2,574
Odlgtz Xgat=r Ha332 A
7,718,000 14] 7,718
SEXT sHEUSSIHL A (HEH (HEAY) 250,000 400,000 A 150,000
401 AlZHIZ SO 250,000 400,000 150,000
01 A28l 248,200 397,120 148,920
O%EXT SOIEMEBATNLAI(HEH(2
=) 250,000,000&%99.28/100 248,200
03 Al 20HHI 1,800 2,880 /1,080
O=8XF sSHEUSEFINL AL (HE(2
xHE) 250,000,000& *0.72/100 1,800
A=K AE S 24 =SHA F=(TEA 266,000 0 266,000
2)
=S 200,000
s 86,000
401 Al HIZL R 0HbI 286,000 0 286,000
< 200,000
[Ea 86,000
01 Al&HI 286,000 0 286,000
OFBUAT A& S BANSE 22EA
TEAL(HE) 286,000,000& x14] 286,000
= 200,000
= 86,000
2 SUHEs2 HE XA 40,000 0 40,000
=S 20,000




A Aots=EDt
ZH: HY4LEL A
Tl A TINLAI (AL T A S5 ) (o) &)
SA - B GR(31) - HIRAY - BES il &k e HlmS2
i 20,000
402 CI2ER=0lH 40,000 0 40,000
= 20,000
= 20,000
02 QIZEXH2 A 22 (01 & &) 40,000 0 40,000
OL® 2=+ HEXJAMS
2,000,000 20 CH 40,000
= 20,000
= 20,000
ATE =EAIE 2e|(M=SAIEEESIH) 1,071,714 1,282,472 A210,758
& 547,400
2 524,314
ARDATAL 2 BE 289,714 280,472 7,040
201 Zer2 ] 62,749 8,356 219,607
01 AFR 22| 62,749 8,356 A19,607
OR4 HTS 2TAN 222(80) HE=
) 63,7002 *197H 2:*23] 2,421
OB MBS SHAA 242 (B2 S)
326,4003 =510 2 16,647
OF4 +TAA 222(20] BHES)
56,5002 *51 I 2 *33] 8,645
O&x(XIdt=) =AM =2 (Rcts)
10,6002 *32I1 A~ *4 3| 1,357
OBL(UsA) 2HLAES STAA 24
2(etE) 50,0002 %320 223 3,200
OURXZIE $EHA L MBA 22
163,200 * 1070 2 1,632
OsEXote =2IA =2 K&
3,347,000 14 3,347
OSYI(AARLGAIL) HASER
250,000 51l 2 +23 25,500
206 M=l 2,805 2,5%6 209
01 M=l 2,805 2,5%6 209
OYEE ASAS(IM, 22227 70%) 2
= 5,500 1kg*10JH*517H A 2,805
401 A& HIZLS0HY| 224,160 197,520 26,640
01 AlEHI 224,160 197,520 26,640
OLAE2EAIE #) 2 23 HIESH
15,000,000 *27H A 30,000
OXlotes BX2ASAIAH H2EH 29
7,500,000 43 30,000
ORIt Bx2=52 &X
15,000, 0002 47 A 60,000
OLATESZAL 25 =7
100,000,000 * 14 100,000




SN MBS
M HEsZEelA
TR ARE TAIE 22 (MA-TAMEEESIA) (S &)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
OARD=TAE ABEATT 82, Z
=29 130,0002 161 A *23 4,160
AR SEHSAIE KA (FEH) (FEAIY) 782,000 1,000,000 A218,000
& 547,400
i 234,600
401 Al&HIZ 20| 782,000 1,000,000 A218,000
= 547,400
= 234,600
01 Al&HI 777,073 993,700 A216,627
OLTE2=TAIE HSAI (X EH)
777,073,000& x 14! 777,073
& 547,400
= 229,673
03 Al 2 CHYI 4,927 6,300 1,373
OLARaTAIE HBAI (X&)
4,927,000& * 14! 4,927
M 2e| 200,000 800,000 A600,000
olblbI (&= A SEBIH) 200,000 800,000 600,000
(i:I1s]}s]] 200,000 800,000 600,000
801 oilgId| 200,000 800,000 600,000
01 LBroilgll 50,000 166,558 116,558
Oouolldlgl 50,000,000 50,000
02 THoll - TH=H=Z0llHIYI 150,000 633,442 A483,442
O THOH=Z 08| 150,000,000& 150,000




